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LCM
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LCM

18𝑎2𝑏2, 15𝑎4𝑐, 8𝑏3 
18𝑎2𝑏2 = 2 ∙ 3 ∙ 3 ∙ 𝑎2 ∙ 𝑏2

15𝑎4𝑐 = 3 ∙ 5 ∙ 𝑎4 ∙ 𝑐 
8𝑏3 = 2 ∙ 2 ∙ 2 ∙ 𝑏3

𝐿𝐶𝑀 = 3 ∙ 3 ∙ 2 ∙ 2 ∙ 2 ∙ 5 ∙ 𝑎4 ∙ 𝑏3 ∙ 𝑐
= 360𝑎4𝑏3𝑐

𝑥2 − 3𝑥 − 28 , 𝑥2 − 16 
𝑥2 − 3𝑥 − 28 = (𝑥 − 7)(𝑥 + 4)

𝑥2 − 16 = (𝑥 − 4)(𝑥 + 4)
𝐿𝐶𝑀 = (𝑥 − 7)(𝑥 − 4)(𝑥 + 4)

𝒂

𝒃
+

𝒄

𝒅
=

𝒂𝒅

𝒃𝒅
+

𝒃𝒄

𝒃𝒅
=

𝒂𝒅 + 𝒃𝒄

𝒃𝒅
 

12𝑦

5𝑥
+

5𝑥

4𝑦3
=

12𝑦 ∙ 4𝑦3

5𝑥 ∙ 4𝑦3
+

5𝑥 ∙ 5𝑥

5𝑥 ∙ 4𝑦3

𝑐𝑐𝑐 =
48 𝑦4 + 25𝑥2

20 𝑥𝑦3

𝒂

𝒃
−

𝒄

𝒅
=

𝒂𝒅

𝒃𝒅
−

𝒃𝒄

𝒃𝒅
=

𝒂𝒅 − 𝒃𝒄

𝒃𝒅

 

3𝑎 + 2

𝑎2 − 16
−

7

6𝑎 + 24
=

6(3𝑎 + 2)

6(𝑎 − 4)(𝑎 + 4)
−

7(𝑎 − 4)

6(𝑎 + 4)(𝑎 − 4)
 

𝑏𝑏𝑏𝑏𝑏𝑏 =
(18𝑎 + 12) − (7𝑎 − 28)

6(𝑎 + 4)(𝑎 − 4)
 

𝑐𝑐𝑐𝑐 =
18𝑎 + 12 − 7𝑎 + 28

6(𝑎 + 4)(𝑎 − 4)
 

=
11𝑎 + 40

6(𝑎 + 4)(𝑎 − 4)

 

https://youtu.be/Ce8LWsRzDXw

